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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=1,00 b=1,00 b/a=1,00 
c=1,00 b=1,00 b/c=1,00 
mR+=0,49 mG−=0,49 mY+=0,98 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=0,66 b=1,00 b/a=1,51 
c=0,66 b=1,00 b/c=1,51 
mR+=0,73 mG−=0,73 mY+=1,47 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=0,70 b=1,00 b/a=1,42 
c=0,70 b=1,00 b/c=1,42 
mR+=0,69 mG−=0,69 mY+=1,39 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=0,75 b=1,00 b/a=1,33 
c=0,75 b=1,00 b/c=1,33 
mR+=0,65 mG−=0,65 mY+=1,30 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=1,33 b=1,00 b/a=0,75 
c=1,33 b=1,00 b/c=0,75 
mR+=0,37 mG−=0,37 mY+=0,74 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=1,41 b=1,00 b/a=0,70 
c=1,41 b=1,00 b/c=0,70 
mR+=0,35 mG−=0,35 mY+=0,70 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=0,84 b=1,00 b/a=1,19 
c=0,84 b=1,00 b/c=1,19 
mR+=0,58 mG−=0,58 mY+=1,16 

range
of office
luminance

N W
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xr = log[L/Lu]xu=

log[Fabc(xr )]=achromatic receptor response & calculated

Fabc(xr )=bβ   e
xr /a − e−xr /a

exr /a + e−xr /a = b β tanh[ xr /a]

Fab(xr ) = b β    exr /a

exr /a + e−xr /aFcb(xr ) = b β  − e−xr /c

exr /c + e−xr /c

Fab(xr )

Fcb(xr )

Fabc(xr ) = Fab(xr ) + Fcb(xr )

a=1,00, b=1,00 e=2,7182
c=1,00, β=1,00, examples

WN

a=1,27 b=1,00 b/a=0,78 
c=1,27 b=1,00 b/c=0,78 
mR+=0,39 mG−=0,39 mY+=0,78 

range
of office
luminance

N W


